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@ oE=22 My sweet-natured daughter suddenly became unpredictably.

21 NEAIRIEZ) 92
— unpredictable
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be-group SAt

is, am, are, was, were, has been, have been, had been, will be...

A< keep, remain, continue...
4z feel, smell, sound, taste...
Q14 look, seem, appear...

¥ prove, turn out...
become-group SAt

become, make, turn, fall, get, grow, come, run...
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% [12 2 EZ0| U= £ 20| 014 0245121 HIZH DXIAIL.
01 He felt enough comfortably to tell me about something he wanted to do.
02 For some people, work becomes increasingly stressful as dissatisfaction with working conditions.
01 |=E| comfortable |8&] Ii= J7H6HD A2 20 CHOH LIOIH 22t 4~ QUS BIS HRteiS =TT
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01 1 will let you know if I can [accompany / accompany with| you on your walk.

If you are free now, I want to [discuss / discuss about] it with you
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01 i=smzsse=n=us

- CIS2I SAIS2 124 AISAIE ASEI0 SSENZ £ 4 8ILL

- AIZH0IN ~SEH(be p.p.)THETIN A2 SAFHFIQIX] 15 OF2H2| SAHE0] AALCHH S21 HOICH

S + be + XiSMN=ed

[HEiE =22 The sound of her footsteps was receded into the distance.
— receded

|21 | OO K= 22 lE MATSI 201K UL

Y OIZoIE appear LIEHCH disappear AlZIAICH vanish AIZIAICH remain HOMRICE
result in ~= OF1GICH result from ~OI22I0[CH occur 2O happen ZeoiC
take place Z<0fCt  emerge ZOfLIC arise =OICH  consist of ~= TR/
rise =0t belong to ~0il =0 die =Lt recede =2{LICI

©
G % 2 OlOIA DA tzte ME D=2,

01 The immediate security threat [has disappeared / has been disappeared]. 21 3& 2K

02 By 1955 Nikita Khrushchev [had emerged / had been emerged] as Stalin’s successor in the USSR.

01 |ZEE| has disappeared |oH2d | ==Xl 2IF0| ALZFRICE

02 |ZE| had emerged | o2 1995%F01 Nikita Khrushchevie RAEIIA StalinQl S HIAIE S&RUICE
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- CI22I SAIS2 284 SAIZ F0fl 2AFI Ot FEAIE 2012 FSICH= 2401 RIS
— EEALLEAREENI0 XS M= 2 SANERARIX| 216, O2H2| SAIS0| AACHH BEANFEEOICE

S+ 284| SAL + SEAL
E-‘?—I\Hx)

OEiE= My sweet-natured daughter suddenly became unpredictably. 21 NEN(RIZE) 95
— unpredictable
| o2 | LtQl CrEst 201 A HIES61Z BIACL
*
P Ol ZoIE] be-group SAl
AEH s, am, are, was, were, has been, have been, had been, will be...
A% keep, remain, continue...
42t feel, smell, sound, taste...
24t look, seem, appear...
¥ prove, turn out...
*
P OlHZoIE? become-group EAl

become, make, turn, fall, get, grow, come, run...

©
G X [IS 2t 2x10| 2= &1 2120] 02} 0{A45101 HIEZH TIXIAIS.

01 He felt comfortably enough to tell me about something he wanted to do. 21 NEARIZE) 95

02 For some people, work becomes increasingly stressful as dissatisfaction with working conditions.

21 =33 85
01 [ZE| comfortable |doH&l| Ti=7H5HI A2 0i CHOH LIOITH 22 -+~ AUS RS TerstS WL
02 I=E] o |ohal] 2 ARS0IH UM 22 Z MO Chet 22101 S0 2t R= & O AEHIA T
CLOFAIHI EICE.
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- L1302 SAIS2 TIKIAIRt SITH M2 4~ 8L E 384 EISAISO0ICE
- GIRIXQ! AFSS S ZIH0IHL| 2|012+ SXTH &47116H 5010k SHC.

S + 3L SAl + BAl
L 3434kt + Tkt )

oEiE=22 She resembles-to her mother very closely. 17 5215193
— resembles
o4 | Jld= 212 00HLIS DKL BL01 SHRAULL

Y oOfzeE KISAIZ ZHUGH 212 EISAH PRI ER 2121

approach ~0il Z=0ICt to [*] discuss ~0l CHOH E=0ICH  about [x]
reach ~0fl ==(GICE at/to [x] mention ~0i CHOH ©1=0ICF about [x]
attend ~0f &AI6ICH to [x] explain ~0ilCHol £E6ICH  about [ <]
answer ~0il CHEOIC to [x] marry ~@t Z=20tCt with [<]
obey ~0f =SofCt to [*] resemble ~% &L with [<]
affect / influence ~0il 2= OIXICH on / to [%] accompany ~= sHIOICH with [x]
enter ~0f S0{ L into [*] contact ~@f &=E0MLY with [x]

e

CLUTTTTD) x5 o0iM ola 2ste 1g N2,

01 Seohee agreed to [accompany / accompany with] her father on a trip to France.

02 She [reached / reached to] the mountain summit with her 16-year-old friend on Sunday.

01 |[HE accompany |oH&| AlSlE OIHHAIZ [t T2AZ OfSHS = HOI SOIRUCE
02 |=E| reached o2 | OlH= LREUN6MICI EIF2 SITH At AN S2UCH
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04 szanius sEiss

- AIZ0IA BIE18] SXIEI= AHEISAIE2 211111 228t AZOIL.
— B1ol0l CHS! 21711RH =01, & LHUIA 2 SAC| ‘BN = =HIGHO ST

== 28 Several problems have raised due to the new members.
— have arisen / have been raised

[oH4 | 22K 2AHAIER 2IRIS 201 &HRCH

P OzoE KIS AKIntransitive Verbs) EI=AKTransitive Verbs)
rise @=Lt rose - risen raise =°[CEALLE raised - raised
arise ZUOIC raised - raised arouse ~= =294t aroused - aroused
lie =CES0IRUCH  lay - lain lay =olCh sCh it laid - laid
cf lie HAZOI  lied - lied
sit 2Tt sat - sat seat 20ICt seated - seated
fall ZO{AICH fell - fallen fell S0 (0 o2t felled - felled
wait 1CHECH waited - waited await ~= 1CE2[CH awaited - awaited

Q
G % CIS I 20| 2= &1 20| 0144 01446121 HIZH DXIAIR.

01 He said he would rise my salary because I worked hard. 21 211593
02 Owing to the heavy rain, the river has risen by 120cm. 17 RIE 95
01 [ZE| raise [oH&| J=LHHLS S5 IHR0l 2SS ST UL 2L

02 I=E] o |oi&l | =22 2loh 2 42 120cm &sRULL
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05 OlI& 4TA EAIRE 3EM EAL

SO SAIE2 44O Z M + Bl= SAIEE &1 2RL0HH, 28 =41 27101 ORZHS SAE0] A 2!
ZE—C.’— 3%"49?. SHIEH MARE=X] 2LI6HOF ST

— A

S + 32| SAl + to SAL + SBA
 Lanw

O===22 The manager refused to explain us the reason why he cancelled the meeting.

— to us
ol | O 22[KH= 2 2IQ1E F a0 01RE L2011 206 I1E HEACE
*
Y OIoIE suggest, explain, introduce, announce, confess, propose, recommend
- Explain the difficult situation to him. [o]
- Explain to him the difficult situation. [o]
- Explain him the difficult situation. [<]

Q
f.u % S QM Ol rot2 12 NEAIR,

01 The professor strongly suggested [one of his students / to one of his students] to apply for the job.

02 He explained [me / to me] the meaning of the sentence. 17 =215 92
01 |ZEE| tooneofhisstudents |6H2| T 1l4E= 10| SHME = of BOHH T 200 AR HS LEIGHH MIRECE

02 |=E| tome o] 2= LIoIH 2 289 90IE &Lt
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06 s=u=nonemmen)

2ESAIS2 584OZ M0I= 5’515'_ HAIZI0Hl SAFRZI0] OF=! to VE MOF Sh= 2401l =CQISHTL 01711
2ESAE A - RIUSAIE M2 | AIS 2SI,

=1

AHUIEAI+=E0{+to V
BENEEIS

oE==2 No one would ask him werk late, much less force him de that.
— to work —todo

[of | == 20IH S HMIKI 2ot=E IR0 25410, T2 H E6HKIE §4S HOICL

4

Y OEIE °'"'§M
tell 2010 order ZE0IL allow O=/0IL ask 2-0fCH
enable ISOMHGICH persuade &S0ICH  encourage ==2Lt advise CTOICH
inspire ISAHICH  urge =0 force L0 motivate = 11=F0{0IC
permit O{SoIL cause HPIEAMSOICL require REOICL invite 20t
want oM wish Hi? expect GO arouse A=0ICH

Q.
CHTTmTD  xasonmoms e 18 1N

01 Double-jointed elbows allow Phelps [create / to create] more downward thrust in the water.

19 =215 95

02 We had much snow yesterday, which caused lots of people [slip / to slip] on the road.

01 IZE| tocreate | G14| O BEO| U= BRI PhelpsE 61013 SA0IA T I8 ORHE Sots 27212
BIS 4 AT BILH
02 = toslip |6H41]  OfR| =01 BL0] QtA A2 ARIS0I LOIA DITRAHCH
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think

(1) S2oHC

find +

(2) MGt

it +

(1) 22401

(2) 22301

make

(3) BIELH

Q) Ixs

T thot (x) C BKF(x)

S8Al + toV

(()le]intan!
(2) SICH

(3) ol

:_H

(1) Sk= 0l

(2) 6= X0l
©le=PS;

[hE TIE 22

The draft law made that possible to fine the companies which ignore the rules.

it 212317185
|oi& | B ZR0I2 7S RAGHE 2AIS0H 252 210I6k= 1S ISoHIACE
that (x) solve (x)
{ T T
Y OlIZoIE ex. They found it impossible to solve the math problem.
OS2 1 2s2HIE = 10| 2SO 1S 2HSICt,

018 OI=SAY0 EH AT

that (x)
T
ex.

interest (x)
il

Li= LH ORI E EHHI 6l=

ZRIE[GRAMMARKILLING POINT]

I think it easy to interest my girlfriend.
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01 You will understand why we find it difficult wait.

02 Top software companies are finding increasingly challenging to stay ahead.

01 I=E]| to wait

02 |ZE| finding it increasingly challenging to stay

201 012 0124

o121 HIZH DXIAI2.

| o4

|02t

A9 AZELQ0] 2AIS2 &

OfEiCH= 1= O RICE

o TICkE =

18 NEAI95

0| OfELCHD =T=A]

= Hol =& O
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06 szu=noiniezve g

- to VI EI0 A2 2401l make, have, let S8l AFHS AN MOIXI= REIRU=AI =ZHQISHLL.
- make®t have= "AIFICH 2 6HA16HH, let2 BIRIGICHZ HAI6H= X0l AIAAEILL

— help= =501 0l SAIRE L to V 25 & & ULk

- get2 SH0IQH =H 2019 U SS2 M, to VRIS =5 £201= F/oICh

to V (x)
s + M€ | =m0t + SN pop.
have

|—'to\/(><) [ P-P- (%)
S + let + 0] + SAIEE / be p.p.

S + help + S201{ + (to) V/p.p.
S + get + SZ{0{ + to V/p.p.

TS (%)

Don’t let me distracted by the noise you make. 21 NEARILE) 95
— be distracted

|21 WNHLHE 28 (201l LH 2SS SSHIGHA 2012k

020 OIS Y0l 2 LAZAE[GRAMMARKILLING POINT]



to clean (x)
4 T
Y O ZoIE ex. I made the maid clean the room.

L= TEEZ 6l0is &= EA0HH UL

to walk (x)
T
ex. I have my dog walk for half an hour every day.

L= OHZ 30= =2 BOIAIS AEHAIZICE

Q
G % CIS 2 2ato| 23 1 ==0] 0 0{A45121 HIZH TXIAIS,

01 The police authorities had the woman arrested for attacking her neighbor. 21 MEN(RIZE) 9
02 After you’ve got the children dress, can you make the beds? 20 BE 1A}
01 I|=E] o |otid | 3= E=2 X 0IRE SHI HZ0H 1 &S MESH=S KL

02 |ZE| dressed || OHSE 2 oI HAlZ| & B Saix?
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06 s=u=noinierm veia)

- to VI 27101l L™ 20| see, hear, feel, watch, listen to, observe S°9| XIS A A0IX = &LU=K
ZIOISH |

- AHSAIRLAIGSAIE & 2012 IFH SAFHA0IE SHORAC| 2T SRS LIEFHLCE

C to V(%)
S + XIS AH + Z=0] + SAEE | ~ing  p.p.

oEisE=2 As I went out for work, I saw a family meved in upstairs. 21 NEN(RIEE) 95

— move or moving

|oi& | LHt S22, 8101 AS0M OIAF 2= HE ERUALC

toenter (x), entered (x)
¢ T
W OifiZoIE ex. He watched her enter the bank.

= T 20 S0i e 1S AHERUCE

to mention (x), mentioning (x)
T
ex. He heard his name mentioned.
= 1910IE0I ¢i=kl= HE SR

L A=

Q
CHTTITD  #ois 2 =z0i2E 2220l ol oiMaR EH TR

01 Even dogs yawn in response to seeing their owners or even strangers to yawn, and contagious

yawning has been noted in other animals as well. 19 RISSZ] 72
02 The spoiled boy made believe he didn’t hear his father calling. 18 R 95
01 |=E| yawn or yawning |62 | &IKI0 THEE AHAIOI Z=RI0ILE ARI0 M AIZIE0| GHEE 6l HE 210 J0H
EISTH0] SHES O, 21880] U= SIE2 LIE S250MT =0EIACH

02 [=E] o |olidl] HIES8i=E O 2H2 0K EEE HE 2 S2 ML
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01 T will let you know if I can [accompany / accompany with] you on your walk. 17 I 9

0T
il

02 Ifyou are free now, I want to [discuss / discuss about] it with you. 17521 95

03 We suggest [you / to you] that you take a copy of the final invoice along with your travel documents.

04 The incident [occurred / was occurred] in the midst of Ukrainian leaders’ campaign of violence.

05 John became great by allowing himself [learn / to learn] from mistakes.
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06 Two factors have made it difficult for scientists determine the number of species on Earth.
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07 When my father heard me sneezing and coughing, he opened my bedroom door to ask me if I

needed anything. 17 X125 93
08 The right food can help you being concentrated.
09 The value of the dollar is certain to go up in January. 16 321 83
10  Susan likes to lay down for a short nap every afternoon.
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